RIZAE I 55—[0 (B WTEER)

5-0. {78 ENRT ML (1093, p.78)
N —IRIGREA

Dfif% a & L1z& &,

Aa=1b

LEFIE, I a A AR E bITET B ARES. T

S IR AL KA & RS

IFaES
=)
1 0
IFRZ7 hb
")
1 — 0 )
== ()
2 = 1 .
EENEN

DESIZI0 EHEEESD.

(2)

D &

M EBIRDPER T T 7 19 7 AITBVWTHRELZ TN S 2 /EN
T2 DITEHBBEET, BlAIREERS SIdRE AR LThobInsd. £L

TRRIEEIIITHIDOE S5 —D2DRGTH 5.

BHIDETIIIDBIEERDONR Y MLDART2EM 7 X7 MVZER” TD
K FEATRT B2 e 2 BEIZHED S, BEINZIZ I NS OFFHIZ G

LR HIIAT A DE A E & [E A X2 bV TRED T 5.



5-1. SEEARZ ML (104, p.78)

1.

2.

A N L, A5 — OB
FHAZ MO (B
A=(1,1), B=(2,3)
AB = (2,3) — (1,1) = (1,2)
A S R LR (B
C=(21), B=(33)
CD = (3,3)— (2,1) = (1,1) = AB
frE Ao ML ORES (Bl

0:(0,0)
A:(1,1), B:(2,3)
a=04=(1,1)-(0,0) = (1,1)
b=0B = (2,3) — (0,0) = (2,3)
WA OES (BIF)

a = (ar,az) = (1,1)
ay = 1

CL2:1
RZ MVORE AR T —£5 (K 5.3)

atb=(1,1)+(23)

Il
—
w

=~

ERZ ML

0 = (0,0)



5-2. ZZENRY ML (59, p.82)
1. E & 22RO RS D@ ()

a = (a/laa/2aa3) = (17170)

5-3. XU MLDOAFE (304, p.85)
1. S, ZEER27 MVONBEOESR (FImR)
a=(L1), b=(23)
(a,b):albl—l—agbg:le—i—l><3:5
2. NROVEE (BRI p.85 DU E T D M)

3. RZMVOES (Hlr)

4. B ML
a 1 1

il ~ (V2" vz

)

(23)

(28)

5. RILEHA 5 DNMDFHE (HFIR, BRHE p. 85, HEMAE A-2)

a=(1,1),f=(1,0)
(a,f)=1x1+1x0=1

(a,f):\/ixlcos(g)zx/iXQX

a = (|lal| cos 8, [|a][sin8), f = (|[b]],0)
(a, f) = llal[ cos & x [[b]| + [[a|sin 6 x 0 = ||al|||b]| cos &

6. FRtE N2 FLOEL (IR

a = (1’ 1), g = (17 _1)

(a,g)=1x1+1x—1:0~cosg



5-4. XU MILDHIE (354, p.88)
1. 2R M VOSEDES (BIFR)

1,1,0), b=(2,3,1)

1x1-0x30x2—-1x1,1x3-2x2)

= (

axb= (agbg — agbg,agbl — albg,albg — agbl)

= (
=(1,-1,-1)

2. FHOHEITHA (p.87) EABDKE X
=(1,1,0), f=(1,0,0)
ax f=(1x0-0x0,0x1—-1x0,1x0—1x1)
= (0,0,—1)
lla x fl =1
HaXﬂF4MWﬂHm9:V5XHm€5:1

3. AEDH D2

—(1,0,0), a=(1,1,0)

fxa-(OxO 0x1,0x1—-1x0,1x1-0x1)
—(0,0,1)=—fxa
= (az2bz — asba, azby — a1bs, a1by — azby)

= (=

(baag — bgas), —(bsar — biag), —(bias — baai))

=-bxa
4. FLRZ NILOIME
axa=0

5. fEAHD RN

(axa)x f=0

ax(axf)=(1,1,0) x (0,0,—1)

( 17 _17 _1)

6. DD (p. 89)

(Ix-1-0x0,1x—-1-0x0,1x—-1-0x0)

(54)

7.AEOERME AT R GEH 5.1, IETY A b, AIRET HAUEHIIR)

(a7a><b)=(b,a><b):

(55)



5-5. =ZE& (104)
1. AHh5— =M (LR— MEE 3. (4))
2. NI MVEER (LR M2





